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VPython - 47 ;% 7§

from vpython import * wa=10
wb=0
dt=0.2 wc=0.001
i=0 wwwa=0
y=0.3 wwwb=0
A=15 wwwc=0
B=14 wwa=0
C=16 wwb=0
M=1 wwc=0
D=A/2 t1=0
E=B/2 t2=0
F=C/2 t3=0
ja=M*(B**2+C**2)/12 t=0
ib=M*(C**2+A**2)/12 th1=0
ic=M*(B**2+A**2)/12 th2=0
th3=0

scene = canvas(title="1D Motion", width=800, height=600, x=0, y=0, center=vec(0, 0.1, 0), background=vec(0, 0.6, 0.6))
x = arrow(pos=vector(0,0,0), axis=vector(20,0,0), color=color.green)

y = arrow(pos=vector(0,0,0), axis=vector(0,20,0), color=color.red)

z = arrow(pos=vector(0,0,0), axis=vector(0,0,20), color=color.blue)

cube = box(pos=vec(0,0,0), size=vec(A,B,C), color=color.red)

cub = box(pos=vec(D,E,F), size=vec(1,1,1), color=color.yellow)

cubb =compound([cub, cube],origin=vec(0,0,0))

cubb.axis = vector(1,0,0)

v=vec(15,7.5,10.5)

gd = graph(title=" % :# A& -t plot", width=600, height=450, x=0, y=600, xtitle="t(s)", ytitle="x % & & ")

gd2 = graph(title=" & A -t plot", width=600, height=450, x=0, y=1050, xtitle="t(s)", ytitle="x & & ")

gd3 = graph(title="x #h-t plot", width=600, height=450, x=0, y=600, xtitle="t(s)", ytitle="x #&")

gd4 = graph(title="y # 4 i & -t plot", width=600, height=450, x=0, y=1050, xtitle="t", ytitle="y #h & i& & ")
gd5 = graph(title="y # & & -y plot", width=600, height=450, x=0, y=1050, xtitle="t", ytitle="y #h & & ")

gd6 = graph(title="y #ih-t plot", width=600, height=450, x=0, y=600, xtitle="t(s)", ytitle="y fh")

gd7 = graph(title="z $ih & i & -t plot", width=600, height=450, x=0, y=1050, xtitle="t", ytitle="z $ih & & & ")
gd8 = graph(title="z #h £ & -y plot", width=600, height=450, x=0, y=1050, xtitle="t", ytitle="z #h & & ")

gd9 = graph(title="z #ih-t plot", width=600, height=450, x=0, y=600, xtitle="t(s)", ytitle="z ##")

gd10 = graph(title="x fib-y fih plot", width=600, height=450, x=0, y=600, xtitle="x #ih", ytitle="y fih")




xat = gcurve(graph=gd, color=color.red)
xtt = gcurve(graph=gd2, color=color.red)
xt = gcurve(graph=gd3, color=color.red)
yat = gcurve(graph=gd4, color=color.red)
ytt = gcurve(graph=gd5, color=color.red)
yt = gcurve(graph=gd6, color=color.red)
zat = gcurve(graph=gd7, color=color.red)
ztt = gcurve(graph=gd8, color=color.red)
zt = gcurve(graph=gd9, color=color.red)

xy = gcurve(graph=gd10, color=color.red)

while 1<900:
rate(100 )

i=i+1

wwwa=0

if th1>=360:
th1=th1-360

if th3>=360:
th3=th1-360

wwwb=wa*wa*(ia-ib)*(ic-ia)*wh/(ic*ib)
wwwe=wa*wa*(ia-ib)*(ic-ia)*wc/(ic*ib)
i R

wwa=0

wwbt=wwwb*dt

wwet=wwwekdt

AR
wa =watwwakdt
wb =wbtwwb*dt

we =wctwwekdt

P ARRCE
tl=wa*dt
t2=wb*dt
t3=wckdt
thl=thl+tl
th2=th2+t2

th3=th3+t3

if th2>=360:

th2=th2-360

cubb. rotate(angle=radians(tl), axis=vec(l,0,0))
cubb. rotate(angle=radians(t2), axis=vec(0, 1, 0))
cubb. rotate(angle=radians(t3), axis=vec(0,0,1))
posx = cub. pos

world_pos = cubb. compound_to_world(v)
print(world_pos)

posx = world_pos. X

posy = world_pos.y

posz = world_pos. z

xat. plot(pos = (t, wa))
xtt. plot(pos = (t, thl))
xt. plot(pos = (t, posx))
yat. plot(pos = (t, wb))
ytt. plot(pos = (t, th2))
yt. plot(pos = (t, posy))
zat.plot(pos = (t, wc))
ztt.plot(pos = (t, th3))
zt. plot(pos = (t, posz))
xy. plot(pos = (posx, posy))

t=t+dt
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